|VASTR—SVTRR or BRXEERS

-

@ (1) 120 (2)52 (3) 152
(4) 6 (5) 15 (6) 14
(7) 17 (8) |8 & (9930 2
(012 2

®@ (1) 131 (2)59 (3)66
(4) 20 (5) 16 (6)5
(7)28 (8)35 C (9) 8 &
10 10 2

ZEZH (85x7=35 35
@2x4=8 8%
M5x2=10 10

()

()

@1)113 (2)95 (3) 112
(4) 8 (5)25 (6) 18
(7)28 (825 ~—¥ (g} 10 =
(100 6cm

BZH 5)5x5=25 25—
92x5=10 |0 2
2x3=6 6¢cm

® (1) 104 (2)637 (3) 101
(4) 4 (5)40 (6) 12
(7)67 (8) 10 vy (9945 C
(0) | 4 A

ZZ7B 3)2x5=10 [0 £
(9)5 X @ =45 45 C
2 x7=14 | 4 &

A
(1) 102 (2)59 (3)205
(4) 35 (5) 2 (6) 45
(7)72 (8) | 4 A& (9)20 2
(108 A

AB B)2xT=14 |4%K
(995 x4=20 20:
102 x4 =8 8 A

P7~P.12

@ (1)573 (2)506 (3) 121
8 (5)28 (6) 24
3 (8)9 2 (9)24 Z

@ (1) 141 (2608 (3)58
(4) 30 (5) 10 (6) 10
(7059 (8) 16 2 (9)40 F\»
(0 1 5dL

(995 x8=40 40 Fu
M5x3=15 I5dL

@ (1) 150 (2)9 | (3)207
(4) 4 (5) 6 (6) 36
(7)23 (8)28 @) 12 &
(0 18 2

EZZH B84 xT7=28 28cC
@3 x4=12 |2 &
0M3x6=18 18 2




P.13~PF.l8

® (1)253 (2)67 (3) 464
(4)9 (5) 16 (6) 27
(7)27 (8)28 X—< (9) |5 C
(10 6ecm

EXBH ©)4xT=28 28—V

(993 x5=15 15 C
T3 x2=6 6bcm

FAbB

(1) 477 (2) 12 (3)209
(4) 24 (5) 12 (6) 32
(7)96 (8) 36 & (9)21 <
(10020 A

36 &

2] <

20 A

@ (1) 645 (2) 89
4) 42 (5)2 1

7) 30 (8) 24 A
)

@3 (1) 160 (2) 88
4) 4.8 (5) 14

)
)600 (8)30 ~—< (9)28 <
)

(3) 161
(6) 6




® (1)577 (2) 446 (3) 199 ® (1) 457 (2)907 (3)694
(4) 24 (5)7 (6) 54 (4)8 (5)18 (6) 32
(7)19 (8) 184 (9422 (7) 700 (8)56 *—< (9)27
(10 48 & (1054 A

EZZXB 8)6x3=18 8% ERH 88 xT7=56 56—

(9)7 x 6 =42 42z (9)9 x3=27 272
06 x 8=48 48 09 x 6 =54 54 A

FAbM @ (1)115 (2)817 (3)87
(1) 107 (2) 707 (3)52 (4)27 (5) 40 (6)9
(4) 49 (5)30 (6)56 (7) 8 (8) 48 < (9)72 £\
(73, 7 B 124 (921 2 o) 1 8dL
(10 63 ~—<

EZXH 88 x6=48 48

EZH 8)6x2=12 | 2 & (999 x8=72 T2\

| @7x3=2] 2|z Mg x2=18 18dL
)7 x9=63 63—
® (1) 136 (2) 49 (3) 146
P.19~P.24 (4) 16 (5)36 (6) 64
(7)35 (8)324& (9452
@ (1)280 (2) 405 (3)392 (o) 24 #
(4) 24 (6) 72 (6) 56
(7)50 8 16 A (9632 EAH (8)8x4=32 32%
10) 40 = (9)9 x 5 =45 45z
08 x 3=24 24K
2XB 88 x2=16 |6A
(9)9 x 7=63 63 _
M8 x5=40 402 TAB
(1)590 (2) 807 (3)202
(4) 45 (5)72 (6) 54

@ (1) 131 (2)27 (3)327 (7)6, 4 (8) 64 & (9)81 C
(4)63 (5) 4.8 (6)81 () 36cm
(7) 4 (8) 24 < (9) 36 * —

o) 72 A EZXB )8 x8=64 64K
(99 x9=81 8I:
xA 8)8x3=24 24T (09 x 4 =36  36bcm
(9)9 x 4 =36 36k
Mg x9="72 T2A




P.25~P.380

@ (1) 120 (2)55 (3161
(4) 18 (5) 36 (6) 12
(7) (8)26 F\»
(9)

@(1)I4l (2) 45 (3) 19
(4) 2 (5) 36 (6)28
(7) C7cm8mm (8) 79 A& (9) 35 ~—2
(1048 C

B 8)18+8=26 26%u
@5x6=30 30A
M5x7=35 35%

EXH 332+47=79 79%
9)7x5=35 35~—v
)8 x 6=48 48 =

@112 (2)78 (3)59
(4)28 ()30 (6) 45
(7) 2mm (8) 13 C (9)27 Z
(10 40 &

FAB
(1) 134 (2) 47 (3) 39
(4) 45 (6) 12 (6) 49
(7)2cméb4mm (8)42 C (9)25 2
(1028 &

EXB 848 -35=13 13 2
(999 x 3 =27 27 S
108 x 5 =40 40 &

® (1)9 (2)55 (3) 116
(4) 2 (5)21 (6) 32
(7)5cm Imm (8) 1058 (9956 2
(10) 45 &

ZXB (8)25+80=105 105 A
(9)8xT7=56 56
Mg x5=45 45 R

@ (1) 122 (2)79 (3)66
(4) 24 (5) 35 (6) 48
(7)5ecm8mm (8)22 (9936 Z
(1054 A

EZXH (828 -6=22 22:C
9)9 x4 =36 36C
009 x 6 =54 54A

EXB B)83 -4l =42 42T
(995 x5 =25 25 C
107 x 4=28 28%&

P31~ P36

@ (1) 82 (2)8 1 (3) 101
4)20 (5) 32 (6) | 4
7)800 (8) 55 % (9) 24 A
)

ZZ5 (6)25+30=55 55%
9)4 x 6 =24 24 A
14 x5=20 204

®@ () 114 (2)5] (3) 35
(4)7 (5)36 (6) 40
(7) 500 (8)25 (9) 48 =
032 =

E2H 8)36-11=25 25z

(9)6 x 8 =48 43 C
08x4=32 322



@) 112 (2)48 (3) 121
(4) 4 (5) 1 4 (6) 40
(7) 180 B20 & (9186 <
(1045 Z

EXA 318+ 7=25 25 v
(9)77 x 8 =56 56 Z
(105 x 9 =45 45 <

@ (1) 131 (2)58 (3) 74
(4) 24 (6] 35 (6) 48
(7)280 (8)22 Z (9930 <
021 A

Z% (8)30-8=22 222
96 x5=30 30:
17x3=21 21A

® ()16l (2) 55 (3) 15
(4) 18 (5)9 (6) 24
(7505 (8) 55 # (9)48 X—=2
(1027 Z

EXB (8)22+33=55 b55%
(@9)8 x 6 =48 48—
09 x3=27 27

FAB
(1) 121 (2) 16 (3) 18
(4)72 (5) 16 (6) 42
(7)300 (8)40 C (9)49 C
(1032 &

EZXB 870-30=40 40
(9)7 x7=49 49
4 x 8=32 32K

P.37 ~P.42

@ (1) 120 (2) 44 (3)56
(4)63 (5) 2 | (6) 25
(MT7L5dL ([8)55 % (9) 48 A
(1024 #&

£2Xh (8)20+35=55 55%
(9)8 x 6 =48 48 A
(06 x4 =24 245K

@ (1) 130 (2)6| (3) 31
(4)63 ()30 (6) 54
(M7L4dL  (8)29 C (9)36 C
(1056 <

E2ZhH 8)52-23=29 29:C
(999 x 4 =36 362
07 x8=56 56

® (1) 136 (2)52 (3) 105
(4)8 (5)56 (6) 16
(m2L2dL (855 &\ (9936 C
(10036 =

ZZXH 840+ 15=55 55Fu

@996 x6=36 36
(04 x9=36 362

@ (1) 153 (2) 81 (3)37
(4) 16 (5) 64 (6) 8
(7 1L8dL (821 2 (9)42
0) 28 A

ZEXPH )33-12=21 2l
(996 xT=42 42
4 x7=28 28A



® (1110 (2)26 (3) 32 ® (1) 135 261 (3191
)15 (518 (6)8 (4) 72 (5)28 (6) 40
MmeLldL (8)34% (940 ~—v (112600 (@41 v (948 <=
(042 2 (1063

ZXH 818+ 16=34 34%k BXB 6124+ 17=41 4l xo

(9)5x 8 =40 40— (9)8 x 6 =48 48—
07 x6=42 42 09 x7=63 63

FAB OJURRN (2519 (3)7
(1) 103 (225 (3) 49 (4) 63 (5) 14 (6)72
(4)27 (5)20 (6)81 M3, 6, 5 (8))4I452A®
(7)9dL ®) 142 (9643 @322 (0722
o) 30 7

3 (8)56 — 42 = |4 14 2 DATA 52 BE
(98 x 8 =64 64~ 9)8 x 4=32 322
0M5x6=30 30&K Mg x8=72 T2z

P43~ P.48 ® 1104 (229 3133

(4)54 (5)56 (6) 32
®(1)683 (2188 (3) 1 44 (7)54 @48 < (964 <
(4)18 5)21 (6)56 1045 -
(15607  (843%K (924 A -
10) 54 %\ B @31 +17=48 48°C
9)8 x 8 =64 642
5) (518 + 25 =43 43 % WX 5=48 45~
9)8 x 3=24 24 A
09 x 6 =54 54 Fw FABM
(1)437 (2)65 (3516

@WIl7T (233 (356 8| {ihag l6) 64
(4) 277 (5) 4.2 (6) 48 (7910000 (8)27 <= (9)T2 &
(713028 (8224 (956 135 <
(10 36 ¥~ =

EXB ®)76-49=27 27"=%
) 8)45-23=22 22A (98 x 9 =72 T2%
@)8x7=56 567 WTxH=35 b=
09 x 4=36 3637




[ER R P.49 ~P.54

® (1) 183 (2)58 (3) |65
(4)32 (5) 35 (6)30
(7)66 (8) 44 (9936 A
(10042 2

ZZH 8)70-26=44 L4 C
909 x 4 =36 36 A
06x7=42 42

TAb
(1) 141 (2)79 (3)52
(4)20 (5) 40 (6) 12
(719999 (8)52 A (9) 18 &
(1048 A

EXH 839+ 13=52 524
@2x9=18 18%
06 x8=48 L8 A

P.66 ~ P.60

@ (1) 139 (2)59 (316
(4) 35 (5)56 (6) 40 A
(7)58 £+ (8)T A (9) 50
(10 10

EXA 6)5x8=40 4OA
(730 + 28 =58 58 F\»
(832 -25=7 TA

M (1)790 (2) 107 (3) 463
(4) 8 B 15 (642
(74210 (8)19 & (9)28 <
(10 40 2

EZXB 862-43=19 194

97T x4=28 282
5x8=40 40

@ (1)591 (2) 329 (3) 145
(4) 16 (5) 45 (6) 36
(7) 6507 (8)70 (9)42 =
(10 20 &

B 852+ 18=70 70:
(996 X T =42 42
4 x5=20 20%*

@ (1) 150 (2) 66 (3)28 1
(4) 36 (5)30 (6) 48
(7) 1700 (8)59 ~— (9)72 R—v
(10028 2

B (8)96 - 37=59 59—
9Fg x8=72 T2R—v
4 x7=28 282
94 (2) 69 (3) 404
4 (5)20 (6) 54
4, 3 (8)53 8% @912 2
6w
838+ 15=53 53%
@3x4=12 122
M8 x7=56 56%u

® (1) 130 (2)94 (318 ;
(4) 30 15} 32 (6) 181
(7)25 b (860 £vv (93, 8

EEXH 6)127+54=181 181 %
(M42-17=25 255
(841 +19=60 60\




(3 (1) 354 (2) 735 (3) 14
(4)20 (5) 40 (6163 ~~—D
(7782 = (8)42 C (9)6, 2
(10) 46

EZH (69 xT=63 63—
(M40 + 12=52 522
(8)72 —30=42 42 =

@ (1) 187 (2) 646 (3)6
(4) 10 (5) 72 (6) 127
(7)32 & (8)52 Z (9)7
(1051

@ (1)453 (2) 69 (3)9
(4) 24 (528 (6)56 &
(7)90 A (8)20 (9) 4, 20
0 230

EXH (©)8xT7=56 56%K

(17139 +51 =90 90H
8)3x6=18 18+2=20

(156 —24 =32 32X
(8)29 +23 =52 52:

20 Z
@ (1) 127 (2) 66 (3)7
(4)20 (5) 42 (6) 48 =
(71152 (8)23 & (9) 400
(05, 3

® (1) 161 (2)97 (3) 4
(4) 15 (5) 64 (6) 48 C
(7) 44 A (8) 17 & (@97, 3
(10 15

EZ2H 66 x8=48 48

5 (6)6x8=48 48 C
(7128 + |6 =44 44 A
848 -31=17 176

(7163 -48=115 152
87 x3=21, 21 +2=23
23 R
@10 (2)92 (3)8
(4) 16 (5) 35 (6)24 Z
(7)66 & (8)30 & (9) 190

EZ2B ©)8x3=24 24=
(1037 +29 = 66 b6 %
(8)4 x 7 =28, 28+2=30

FAbB
(1)782 (2) 646 (3) 12
(4) 40 (5) 24 (6) 121 #\»
(M43 x>  (8)35 C (9) 12
f0) 106
EZH )79+ 42=121 121 Fu
(7780 — 37 =43 43 x>

(8)22+ 13=35 352

30 &
@ (1) 135 (2)53 (3)3
(4) 8 (5)63 (6)63 2
(7) 88 H (8) 24 Z (9) 406
6, 10

EXA )9 xT=63 63C
(7184 —96 =88 88H
(8)5 x4 =20, 20+4=24

24 <




() (1)880 (2) 35 (3)2
(4) 36 (5) 49 )32 <
(7) 103 £+ (8)33 (9) 1000
)|, 9

@ 16l (2)88 (3) 24
(4) 24 (8l45 (6) 76 A
(7149 ~—2 (8)22 C (9) 7cm
(100 5cm9 mm

32 C

(6)62 + 14 =176 76 &

(746 +57 =103 103 (T xT =49 49—
(8)7 x 4 =28, 28 +5 =233 (8)5 x 4 =20, 20 +2 =22
33 22 =
FAbM @ (1) 122 (2) 127 (3)9
(1) 127 (2) 704 (36 (4) 12 (5) 8| (6)31 A
(4) 32 (5)2 1 (6) 45¢cm (7)28 & (8)23 &
(7)47 v (8) 14 C (9)614 (9) 10em2mm (10 8cm
06, 19
EXB (6)58-27=31 3l A
ERXB 6009 x5=45 45cm ()7 x 4 =28 28%
(1) 131 — 84 =47 47 v

®4x3=12 12+2=14

|4 2
[ERPAE] P67 ~P.72
@ (1) 147 (2) 102 (3)21
(4)36 (5)63 (6) 59 <
(7732 2 (8)57 2 (9) 7cm5mm
10 becmbéEmMmM

EZ2H 6)20+39=59 59
(7)4 x 8 = 32 32 ¢
(8)42 + |15=57 57:

@) (1)338 (2) 47 (3)27
(4) 42 (5) 54 (6)45 2
(9) 7cm2mm

724 < (8)27 Z
)

EZZXH (6)77-32=45 45T
(16X 4=24 24 C
(8)8 x 3=24, 24 +3 =27
27 <

®6x3=18 18+5=23
23 &

) (2) 906 (3)6
4) 18 (5) 18 (6) 64 F o
) 48 A& (8)52 &\

) (10 7mm

(6) 18 + 46 = bk b4 F o
89 x5 =45 45+7=052

52 Fu
FAbB
1)580 (2) 59 (3) 15

(1)

(4) 48 (6) 36 (6)59 =
(7) 16 A (8) 34 A

(9)

10 6em8mm

EZ25h (6101 —42=59 59cC
Mexb=16 |6A
(8)6 x 5=230, 30 + 4 = 34
34 K



P.73~P.78

D (1) 143 (2)513 (3) 12
(4)27 (5)28 (6)66 C
(71042 2 (8)23 A (9)9m6O0Cm
(1) ImIOcm

EZXH (0)38+28=66 662

(76 x 7 =42 42 Z
84 x5=20, 20+3=23
23 A

@ (1) 103 (2)85 (3) 24
(4) 32 (5)8 (6) 67 H
R - g (8)53 & (9)8m20cm
(1) | m60cm

EZPB 6153-86=67 67A
(M5%x3=15 |5 <
(8)8 x 6 =48, 48 +5 =53

53 K

@117 (2) 843 (3)16
(4) 16 (5)35 (6)93 & 4
([7) 30 = (8)39 C (9)7m30cm
(102m90cm

ERXB (6)54+39=93 93¢

(M5x6=30 302
(8)4 x 9 =36, 36 + 3 =239
39 C
@ (1) 124 (2) 66 (356
(4)81 (5) 24 (6)82 2
(712 A (8)43 Z (9) 10m
(1002m80cm
= 6)152-70=82 82
(M4 x3=12 12 A
86 xT=42, 42+ | =43
43 <

10

®) (1)540 (2) 50 (3)54
(4)21 (5) 35 (6)91 <
(7063 2 (859 v (999m 10cm
(105m30cm

EXH (6)63+28=29] Q| Z

(Mg xT7T=63 63
(8)8 x 7T=56, 56 + 3 =59
59 Fv»

FAB
(1)451 (2) 32 (3)72
(4) 42 (5)8 (6)78 C
(7)30 2 (8)56 &
(9)12m50cm (100 70cm

#EXH 6)103-25=78 78:

(705 x 6 =230 30 2
(816 x 9 =54, 54 +2 =56
56 &
[EALYER P79 ~P.84
) (1)546 (2)421 (3) 4
(4)3 (5) 49 (6) 63 M
(7)24 B (8) 12L
(@)1l cm8mm
(107 350 4 580
6)80 - 17=63 63 H
(7)8 x 3 =24 24 =
@ (1) Ibé (2) 46 (3) 10
(4) 1 (5) 42 6) 173 H
(7)40cm (8)7L
(9) 1 8cm8mm
(077 799 14 816
EZH 6)89+84=173 173R
(7)5 x 8 =40 40cm




@ (1 460 (20529 (3)32 [ERE128 P85 ~P.90

(1)

(4) 4 (5) 40 (6) 35 &

(7)|4«—‘/ (8)6L2dL @ (1) 480 (2>626 (3) 10

(9) (4) 18 (5) 2 (6)87 £\»
)77 7 < (8) |3L (9)6m | Ocm

9) |Ocm | mm )
750 4 910 (7)
(10)

(10

5 (6)82 - 47=35 354

M2xT=14 |4~=2 EZH 036+51 =87 87Fu

(Mg x3=27 27

10 (2) 707 @12
(5)2 (6) 75 A% @ 117 (2)65 3) 16
gz (8) | I_édL (9) 6cm8mm (4) 36 (5)56 (6)55 F
210 A 440 (7) 64 A (8)5L (9)3m90cm
W7 450 4 730
3 (6)52+23="T75 TS5 A%

(M6 xT=42 42 #EXH (6)153-98=55 55H
(7)8 x 8 =64 64 A

® (1) 13 (2)59 (3) b4
(4)6 (5) 30 (6) 104 A @ (1) 129 (2)3 (3) 14
(7) 24 & (8) | L4dL (14dL) (4) 20 (5)5 (6)73 :
(9)30cm (7)48 2 (8)7L3dL (9)9m 10cm
w7 974 4 1000 7 339 A 35I|
EZXPH 656+ 48 =104 104 A E2E )62+ 11 =73 73
(1)3x8=24 24 %K ()8 x 6 =48 48 C
FAb @ (1) 140 (2) 855 (3)63
(1) 139 (2) 734 (3)63 (4) 20 (5) 48 (6) 34 C
(4) 36 (5)2 (6) 43 & (7121 A& (8)3L5dL  (9)2m
(7)35 & (8)6dL (9)21 cm 7 962 A 993
07 665 A4 691
#EXAH (693 -59=34 34

B (690 -47=43 43¢& (7103 x 7 =21 21 K
(775x7=35 35%

® ()11 (2) 87 (3) 14
(4)18 (5) 45 (6)35 F\»
(7063 2 (8) 1L2dL (12dL)

1077 790 A 1000

XA 622+ 13=35 35%n
(17 x9 =63 632
11



(1) 141 (2)72 (3)27

(4) 24 (5) 48 (6)57

(735 A (8) 8dL (9)80cm
)

0y 490 a4 720

EZ2H5 (6)143-86=57 57z
(M5x7=35 35A

P91 ~P.96

@(1)II5 (2) 54 (3) 143
(4)3 (5)32 (6) 120
(7) Ibcmémm (8) 6854
(91122 (10) 40 &

EZXB 964+ 48=112 112 2

05 x8=40 40%K

@ (1) 24 (2) 140 (3)68
(4) 18 (5) 18 (6) 30
(7) 19cm | mm
87 360 4 550
(9922 2 (10) 36 =

EZAB 960-38=22 22:
m6x6=36 362

@ (1) 165 (2)82 (3) 173
(4)21 (5)45 (6) 102
(776 L8dL  (8)3200 (9) 53 & v»
(1028 &

#EXPB (921 +32=53 53Fu
1007 x 4 =28 284

12

@ (1)63 (2) 141 (3)26
(4)27 (5)32 (6)80
(7)) lem8mm (877 530 4 690
(9)28 X—< (1029 C

Z25 (9960 — 32 =28 28 R—v

(108 x 3=24, 24 +5 =29
29 C

® (1) 149 (2)20 (3) 137
(4) 45 (5) 24 (6)53
(7 11rL2de (83, 2, 8 (966 &
(1049 <

ZXA 929 +37=66 66K
108 x 6 =48, 48+ | =49

49 -
TAbE
(1) 47 (2) I22 (3)29
(4) 42 (5) 2 (6) 130
(779m20cm (8)77 620 4 790
(9) 18 2 (10 30 &

EZA 9970-52=18 18 C
04 x 7 =28 28+ 2 =230

30 &
IERVACR P97 ~P.102
®<1>l|7 (2)61 (3) 164
(4)3 (5)28 (6)90
(7)26cm3mm (8) 7085
(9)9 £\ (1036 2

BXB (1968-59=9 9gzfu
07 x4=36 362




@ (141 (2>l22 (3) 18
(4) 30 (5) | (6) 45
(7)2cm7mm (8)7 356 4 375
@113H (049

EZH 9975+38=113 113m
105 x 9 =45, 45 + 4 = 49
49 F\»

@ (1) 175 (2)26 (3) 166
4)28 (5) 40 (6) 34

7)6L3dL (8) 65

‘?)Mﬁi*/wﬁ 28A%L LT\ %

(10042 Z

(
(
(
(

(986 — 58 = 28

BWHIAA 28R L -1 5,

07x6=42 422

@ (1) 64 (2) 139 (3) 45
(4) 36 (5)56 (6) 102
(776ecm7mm (8)7 513 A4 529
(9) )

EZH (9936 +45=81 8| %»
105 x 8 =40, 40 + 4 = 44

VWIS
® (1) 124 (2) 47 (3) 131
(4)63 (5) 24 (6)4012
(7)3L8dL  (8) 7648 (9)96 A

EZXH (9164 -68=96 96 H
)7 x7=49, 49 +5 =54
54 <

(1)35 (2) 106 (3)59
(4) 49 (5) 15 (6) 110
(79cm I mm 87 732 A 749
(9)25 v (057 2
Zh (962-37=25 25%Fu
06 x § =54, 54+ 3 =57
57 2
IEAE]E] P03 ~P.108
@ () 278 (2) 234 (3) 382
(4) 4 (5) 54 (6)2, 30
(7)35cm [ mm (8) 6400
(9)92 £\ (1033 A
ESH 9120-28=92 92 %\
)5 x 6 =230, 30 +3 =233
33 A
6) (1)236 (2) 492 (3118
(4) 2 (5)10 (6)2, 6
(7>6cm8mm 87 362 A 400
(9997 H (10040 F\»

EZ5 (968 +29=97 97A
106 x 6 =236, 36 +4 =40

40 F
® (1)265 (2) 121 (3)303
(4)56 (5) 24 (6) 1, 60
(7 10L2dL (86, 8, 7
NBERIAH»I0OAEZLE->TV S
(10056 #&

(90110 -80=30

BERIAP30AZLE-TW 5

08 x7=56 56%K

13



@ (1)247 (2)323 (3) 139
(4) 54 (5) 24 (6) 10, 50
(7)80cm (87 506 1 538
@ 110% @3] &

EXA (950+60=110 [ 10 %

(04 x7=28, 28+ 3=23lI
31 &

@(1>2|3 (2 177 (3)251
(4)7 (5) 42 (6)20, 40
(7)4L7dL (8) 4609 (9)77 A
(1020 2

EXB (9)172-95=77 T77H
05x4=20 20:

2 I~
(19 (2) 306 (3)97
(4)3 (5) 10 (6)3, 20
(7)33cm | mm@)7 774 4 812
(9131 2 (1026 A&
EZXB 967+ 64 =13 |81 =
103 x 8 =24, 24 +2 =26

26 &

14



